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Decimals

This is a chart of the place value for the whole number and decimal numbers typically used in the health care field.
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<H1>Rounding Decimals</H1>
<P>Decimals are rounded in health care to create manageable numbers. We may have a difficult time visualizing a number such as 14.39757. However, we can easily understand the number 14.4 or 14.40. These are the same number. Normally, we drop the “0” when it serves no specific value. Rounding to a specific decimal place is accomplished in the same way that whole numbers are rounded. In general, health care workers round decimal numbers to the nearest tenth or the nearest hundredth.</P>
<H2>Example</H2>
<P>Round 6.75 to the nearest tenth

<SL><ITEM><TTL><INST>Step 1:
</INST></TTL><P>Underline the place to which you are rounding

<DM ID="DM.04.004">6.<US>7</US>5</DM></P></ITEM>
<ITEM><TTL><INST>Step 2:
</INST></TTL><P>Circle one number to the right of the underlined number. If the circled number is 5 or greater, add 1 to the underlined number, and drop all the numbers to the right of the changed number. If the circled number is less than 5, do not change the underlined number, and drop all the numbers to the right of that number.</P></ITEM></SL>
6.75 becomes 6.8 <DM ID="DM.04.005"> </DM>
Sometimes a health care worker will round to the tenths place value, and the whole number will be affected.</P>
<H2>Example</H2>
<P>Round 3.99 to the nearest tenth.</P>
<SL><ITEM><TTL><INST>Step 1:
</INST></TTL><DM ID="DM.04.006"> 3.<US>9</US>9</DM></ITEM>
<ITEM><TTL><INST>Step 2:
3.99    3.9(+1) = 4.0 or 4</INST></TTL><P>
 EMBED Equation  

</P></ITEM></SL>
Set 1. <H2>Practice
</H2>
<P>Round to the nearest tenth:

<NL><ITEM><P><INST>1.
2</INST>6.73   = ___________

6.
804.99  = ___________</P></ITEM>
<ITEM><P><INST>2.
</INST>5679.76    = ___________

7.
0.0783  = ___________</P></ITEM>
<ITEM><P><INST>3.
</INST>0.88    = ___________

8.
609.37  = ___________</P></ITEM>
<ITEM><P><INST>4.
</INST>32.562 = ___________

9.
69.89    = ___________</P></ITEM>
<ITEM><P><INST>5.
</INST>215.08 = ___________

10.
0.088   = ___________</P></ITEM></NL></P>
Set 2. <INSTR><P>Round to the nearest hundredth:</P></INSTR>
<NL><ITEM><P><INST>1.
</INST>57.337 = ___________
6.
$7,704.129 = ___________</P></ITEM>
<ITEM><P><INST>2.
</INST>0.785 = ___________
7.
672.981 = ___________</P></ITEM>
<ITEM><P><INST>3.
</INST>42.5676 = ___________
8.
90.2456 = ___________</P></ITEM>
<ITEM><P><INST>4.
</INST>0.2390 = ___________
9.
426.078 = ___________</P></ITEM>
<ITEM><P><INST>5.
</INST>0.0068 = ___________
10.
42.735 = ___________</P></ITEM></NL>
<P> 
Adding decimal requires that you line up the numbers vertically like buttons on a shirt and then add. Move the decimal point directly downward, so that it is in the same place as provided in the problem.

Set 3. <H2>Practice</H2>
<NL><ITEM><P><INST>1.
</INST>0.34 + 36 + 23.25 = ___________</P></ITEM>
<ITEM><P><INST>2.
</INST>18.2 + 17.034  + 0.78 = ___________</P></ITEM>
<ITEM><P><INST>3.
</INST>0.51 + 56 + 0.825 = ___________</P></ITEM>
<ITEM><P><INST>4.
</INST>60.77 + 0.239 + 0.25 = ___________</P></ITEM>
<ITEM><P><INST>5.
</INST>0.0346 + 60.24 + 19 = ___________</P></ITEM>
<ITEM><P><INST>6.
</INST>0.249 + 1.5 + 545.3 = ___________</P></ITEM>
<ITEM><P><INST>7.
</INST>145.28 + 15.24 + 347 = ___________</P></ITEM>
<ITEM><P><INST>8.
</INST>0.565 + 23.87 + 124.07 = ___________</P></ITEM>
<ITEM><P><INST>9.
</INST>19.75 + 0.004 + 66.54 = ___________</P></ITEM>
<ITEM><P><INST>10.
</INST>38.01 + 96.056 + 0.044 = ___________</P></ITEM></NL>
Subtracting decimal requires that you line up the numbers vertically like buttons on a shirt and then add. Move the decimal point directly downward, so that it is in the same place as provided in the problem.

Set 4. <H2>Practice</H2>
<NL><ITEM><P><INST>1.
</INST>3.4 – 1.34 =___________</P></ITEM>
<ITEM><P><INST>2.
</INST>644.4 – 3.84 =___________</P></ITEM>
<ITEM><P><INST>3.
</INST>172 – 0.835 =___________</P></ITEM>
<ITEM><P><INST>4.
</INST>0.68 – 0.3924 =___________</P></ITEM>
<ITEM><P><INST>5.
</INST>33.5 – 0.1985 =___________</P></ITEM>
<ITEM><P><INST>6.
</INST>15 – 1.2389 =___________</P></ITEM>
<ITEM><P><INST>7.
</INST>0.3 – 0.055 =___________</P></ITEM>
<ITEM><P><INST>8.
</INST>19.47 – 0.5608 =___________</P></ITEM>
<ITEM><P><INST>9.
</INST>86.34 – 0.184 =___________</P></ITEM>
<ITEM><P><INST>10.
</INST>0.09 – 0.009 =___________</P></ITEM></NL>
Multiplying decimals requires that the numbers are first multiplied and then the number of decimal places in the problem are counted and this is how the decimal placement is determined. 

Set 5. <H2>Practice</H2>
<P>Set up multiplication problems vertically.</P>
<NL><ITEM><P><INST>1.
</INST>4.2 ( 13 = ___________</P></ITEM>
<ITEM><P><INST>2.
</INST>92.3 ( 7 = ___________</P></ITEM>
<ITEM><P><INST>3.
</INST>619 ( 1.4 = ___________</P></ITEM>
<ITEM><P><INST>4.
</INST>488 ( 0.7 = ___________</P></ITEM>
<ITEM><P><INST>5.
</INST>9.77 ( 18 = ___________</P></ITEM>
<ITEM><P><INST>6.
</INST>0.953 ( 70 = ___________</P></ITEM>
<ITEM><P><INST>7.
</INST>6.25 ( 0.92 = ___________</P></ITEM>
<ITEM><P><INST>8.
</INST>3.450 ( 0.59 = ___________</P></ITEM>
<ITEM><P><INST>9.
</INST>0.238 ( 1.5 = ___________</P></ITEM>
<ITEM><P><INST>10.
</INST>42.39 ( 2.7 = ___________</P></ITEM>
Dividing Decimals

<P>To divide decimals, one needs to place the decimal first, then divide the two numbers. Once the decimal is placed, it is not moved. Students have a tendency to want to move the decimal once the division process is underway; the result is an error in decimal placement.</P>
<P>Follow the steps below to divide a decimal that has a decimal in the dividend:

<SL><ITEM><TTL><INST>Step 1:
</INST></TTL><P>Move the decimal straight up to the same place in the quotient. Place the decimal and then divide the numbers.</P>
<DM ID="DM.04.020">
[image: image1.wmf] 
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  </DM></ITEM>
<ITEM><TTL><INST>Step 2:
</INST></TTL><P>Divide, adding a zero in front of all decimal numbers that do not include a whole number.</P>
<DM ID="DM.04.021">
[image: image2.wmf] 
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</DM></ITEM></SL></P>
<H2> 
  </P></ITEM>
Set 6. <H2>Practice</H2>
<NL><ITEM><P><INST>1.
</INST> 
[image: image3.wmf]6
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 = ___________</P></ITEM>
<ITEM><P><INST>2.
</INST>
[image: image4.wmf]2

.

75

4

 = ___________</P></ITEM>
<ITEM><P><INST>3.
</INST>
[image: image5.wmf]9
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46

7

 = ___________</P></ITEM>
<ITEM><P><INST>4.
</INST>
[image: image6.wmf]05

.

16

3

 = ___________</P></ITEM>
<ITEM><P><INST>5.
</INST>
[image: image7.wmf]8
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12

 = ___________</P></ITEM>
<ITEM><P><INST>6.
</INST>
[image: image8.wmf]17
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13

 = ___________</P></ITEM>
<ITEM><P><INST>7.
</INST>
[image: image9.wmf]2
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 = ___________</P></ITEM>
<ITEM><P><INST>8.
</INST>
[image: image10.wmf]475

.

2

9

 = ___________</P></ITEM>
<ITEM><P><INST>9.
</INST>
[image: image11.wmf]292

8

 = ___________</P></ITEM>
<ITEM><P><INST>10.
</INST>
[image: image12.wmf]08
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 = ___________
 EMBED Equation  

</P></ITEM></NL>
 If you are dividing a decimal which has decimals in the divisor, one moves the decimal the correct number of places to the right to make it a whole number and then the same number of places the decimal in the dividend is also moved.  

1.2
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so looking at 1.25 this  becomes 
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The decimal has been moved two places in both parts of the problem. 

Set 7. <H2>Practice</H2>
<NL><ITEM><P><INST>1.
</INST>750 ÷ 0.75 = ___________</P></ITEM>
<ITEM><P><INST>2.
</INST>0.081 ÷ 3 = ___________</P></ITEM>
<ITEM><P><INST>3.
</INST>63.26 ÷ 3.2 = ___________</P></ITEM>
<ITEM><P><INST>4.
</INST>0.033 ÷ 1.1 = ___________</P></ITEM>
<ITEM><P><INST>5.
</INST>3.297 ÷ 6 = ___________</P></ITEM>
<ITEM><P><INST>6.
</INST>0.8450 ÷ 5 = ___________</P></ITEM>
<ITEM><P><INST>7.
</INST>183.96 ÷ 6 = ___________</P></ITEM>
<ITEM><P><INST>8.
</INST>6.090 ÷ 0.3 = ___________</P></ITEM>
<ITEM><P><INST>9.
</INST>0.190 ÷ 0.5 = ___________</P></ITEM>
<ITEM><P><INST>10.
</INST>145.04 ÷ 4 = ___________</P></ITEM></NL>
<H3>Simplified Multiplication</H3>  

To multiply by 10, locate the decimal and move it to the right one place.
<ITEM><P>To multiply by 100, locate the decimal and move it to the right two places.</P></ITEM>
<ITEM><P>To multiply by 1,000, locate the decimal and move it to the right three places.</P></ITEM></UL>

[image: image15]
 Some examples are shown below:
10 x 3.4 = 34 



1.09 x 10 = 109 

21.5608 x 100 = 2156.08


100 x 7.5 = 7500</H2>
Thus, <<P>in simplified multiplication locate the decimal, count the zeros in the divisor and move the decimal the same number of places to the right.</P>
Set 8. Practice

<NL><ITEM><P><INST>1.
</INST>4.5 ( 10 = ___________</P></ITEM>
<ITEM><P><INST>2.
1</INST>4.67  ( 100 = ___________</P></ITEM>
<ITEM><P><INST>3.
</INST>123.25 ( 10 = ___________</P></ITEM>
<ITEM><P><INST>4.
</INST>6,000 ( 100 = ___________</P></ITEM>
<ITEM><P><INST>5.
</INST>0.08 ( 100 = ___________</P></ITEM>
<ITEM><P><INST>6.
</INST>0.756 ( 10 = ___________</P></ITEM>
<ITEM><P><INST>7.
</INST>172.23 ( 1,000 = ___________</P></ITEM>
<ITEM><P><INST>8.
</INST>0.345 ( 100 = ___________</P></ITEM>
<ITEM><P><INST>9.
</INST>0.076 ( 1,000 = ___________</P></ITEM>
<ITEM><P><INST>10.
</INST>   345 ( 10 = ___________</P></ITEM>
<H3>Simplified Division  

To divide by 10, locate the decimal and move it to the left one place.</H3>
<ITEM><P>To divide by 100, locate the decimal and move it to the left two places.</P></ITEM>
<ITEM><P>To divide by 1,000, locate the decimal and move it to the left three places.</P></ITEM></UL>
<P>In simplified division, locate the decimal, count the zeros in the divisor and move the decimal the same number of places to the left.</P>
Set 9. Practice

<NL><ITEM><P><INST>1.
</INST>145.9 ÷ 10 = ___________</P></ITEM>
<ITEM><P><INST>2.
</INST>408.34 ÷ 100 = ___________</P></ITEM>
<ITEM><P><INST>3.
</INST>1098  ÷ 10 = ___________</P></ITEM>
<ITEM><P><INST>4.
</INST>98.345 ÷ 1,000 = ___________</P></ITEM>
<ITEM><P><INST>5.
</INST>0.56 ÷ 10 = ___________</P></ITEM>
<ITEM><P><INST>6.
</INST>1679.5 ÷ 100 = ___________</P></ITEM>
<ITEM><P><INST>7.
</INST>156.8 ÷ 100 = ___________</P></ITEM>
<ITEM><P><INST>8.
</INST>3,5678 ÷ 10 = ___________</P></ITEM>
<ITEM><P><INST>9.
</INST>378.60 ÷ 100 = ___________</P></ITEM>
<ITEM><P><INST>10.
</INST>0.08  ÷ 10 = ___________</P></ITEM>
<H1>Changing Fractions to Decimals</H1>
<P>To change fractions to decimals, divide the denominator into the numerator. Critical to the success of this division is the placement of the decimal. Once it is placed, do not move it.</P>
<H2>Example</H2>
<P>Change 
[image: image16.wmf] 
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4

 to a decimal. Divide the denominator into the numerator. Place a decimal after 3 and move it straight up into the quotient. Then add a zero after 3 and divide. Add zeros as needed to continue the division process.</P>
<DM ID="DM.04.030">
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The final answer will be 0.75.  The zero must be out in front of any decimal number that has not whole number. 

<H2>Example</H2>
<P>Change 
[image: image18.wmf] 

1

3

 into a decimal. Divide 3 into 1. Place the decimal. Add zeros as needed to continue division. The division may not come out evenly, but rather begin to repeat itself. After two places, make the remainder into a fraction by putting the remaining number over the divisor.</P>
<DM ID="DM.04.031">
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The final answer is 0.33
[image: image20.wmf]3

1

,  not 0.3
[image: image21.wmf]3

 .  
<DT><P>When the decimal answer is a number like 0.50, drop the final zero so that the answer is 0.5.</P></DT>
Set 10. <H2>Practice. Round to the nearest hundredth, if needed.</H2>
<NL><ITEM><P><INST>1.

</INST>
[image: image22.wmf] 
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 = ___________</P></ITEM>
<ITEM><P><INST>2.


[image: image24.wmf]5
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 = ___________</INST> </P></ITEM>
<ITEM><P><INST>3.

</INST>
[image: image25.wmf] 
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 = ___________</P></ITEM>
<ITEM><P><INST>4.

</INST>
[image: image26.wmf]6
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 = ___________</P></ITEM>
<ITEM><P><INST>5.


[image: image27.wmf]20
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 = ___________</INST> </P></ITEM>
<ITEM><P><INST>6.

</INST>
[image: image28.wmf]12
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 = ___________</P></ITEM>
<ITEM><P><INST>7.


[image: image29.wmf]12
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 = ___________</INST> </P></ITEM>
<ITEM><P><INST>8.

</INST>
[image: image30.wmf]9
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 = ___________</P></ITEM>
<ITEM><P><INST>9.

</INST>
[image: image31.wmf]7
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 = ___________</P></ITEM>
<ITEM><P><INST>10.

[image: image32.wmf]3
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 = ___________
Answers are provided on the following page. 
 Set 1.
	1)  26.7
	3)   0.9
	5)   215.1
	7)   0.1
	9)    69.9

	2)  9.8
	4)    32.6
	6)   805
	8)   609.4
	10)   0.1


 Set  2.
	1)  7.34
	3)   42.57
	5)   0.01
	7)   672.99
	9)    426.08

	2)  0.79
	4)    0.24
	6)   7704.13
	8)   90.25
	10)   42.74


 Set 3.
	1)  95.93
	3)   57.335
	5)   79.2746
	7)  507.52 
	9)    86.294

	2)  36.014
	4)    1.259
	6)   547.049
	8)  148.505
	10)   134.11


 Set 4.
	1)  2.06
	3)  171.165 
	5)   33.3015
	7)   0.245
	9)   86.156 

	2)  640.56
	4)   0.2876 
	6)   13.7611
	8)   18.9092 
	10)  0.081 


 Set 5.
	1)  54.6
	3)   26.6
	5)   175.86
	7)   5.75
	9)    0.357

	2)  646.1
	4)    341.6
	6)   66.71
	8)   2.0355
	10)   114.453


 Set 6.
	1)  4.72
	3)   6.7
	5)   15.09
	7)   23.8
	9)    36.5

	2)  18.8
	4)    5.35
	6)   18.09
	8)   0.275
	10)   1.14


 Set 7.
	1)  1000
	3)   19.77
	5)   0.5495
	7)   30.66
	9)    0.38

	2)  0.027
	4)    1.133
	6)   0.169
	8)   20.3
	10)   36.26


 Set 8.
	1)  45
	3)   12325
	5)   8
	7)   172230
	9)     76

	2)  1467
	4)    600000
	6)   7.56
	8)   34.5
	10)   3450


 Set 9.
	1)  14.59
	3)   109.8
	5)   0.056
	7)   1.568
	9)    3.7860

	2)  4.0834
	4)    0.098345
	6)   16.795
	8)   3567.87
	10)   0.008


 Set 10.
	1)  0.75
	3)   0.88
	5)   0.25
	7)   0.25
	9)    0.29

	2)  0.4
	4)   0.83
	6)   0.42
	8)   0.56
	10)   0.67


 


<DT><P>Whole numbers have their decimal places to the far right of the last digit. 9 = 9., 75 = 75., 125 = 125.</P></DT>
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